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0| 2f9| I| 7|0 Chst %E@% Hotst| {15t 2A
I I- 2
AC4115408 A= 122 Q[ofCi= 10|},

DB2113373 Gi7L= 24

DB2113373 70| M= O] (U2 =ClE 62.5 mcg) & /IAS Y22 FISHUCE LAE /M=
1692 M2| 2[4 FEV1 7| M2 Z2E{2| HoH(1682 M0f| O|H F01E =6t = 23AI2H L 24 A[ZH A[H0|| =
OISt FEVy 2|2 B2 2 YO|F) =2, 9/} Bl wE7t E|AC}. 0] of2 2|kt Bluste] ot 2|4 FEV1 7|4
A 2EE{Q] WL O 2 A2 LEITE (1),

AC4115408 A0 M = Of2t AR B2

r°|'
rulru

2Ct.

H 1. ITT(Intention-to-Treat) 2FA20|A 1694 2| A FEV1(mL) 7| {222 E{Q| B3}O| 2|A2tE5 B
(DB2113373¢F)

%ml%alilﬁ'ilz— 169¢A] 2[A FEV1 (mL)
II| &
el S|OH(T| 312} 4 2808]) CiH] 20| (95% CI)
418 115 (76, 155)

DB2113373 A9| 5t/ (0] okt 54, 2|kt 36%)0|AM LFES 24A|2H ZHAS EEO%F&H ALA QI

7|5 BAME £0] 1, 84, 168 Aol £33t 1, AC4115408 A ME 1, 84 MOf| 2= SHA10)| Choh
HL20| | 7|5 HAIS £85I CH DB2113373 €10 A O] 22 9|Qkut H| W&t AI T 2|1 FEV1(7|AZ]
E 7|202 M2 6A17H o= 1L} 168U Z+2F 126 mL L 130 mLRACE.

@ 23H(exacerbation) (CTT116853, IMPACT ¢41)

0[21 12 7Y S0 18] 0|0l ZEE U S5 of5t 0| U= DHLTAAT LS 824 10,355 FS i
2 E2Ep|eE20[0|=/201S2\C| 5/ UE2 (100/62.5/25 1) (n=4,151), E2E|HEEZ00|=/4a
51 (100/251) (n=4,133) 22 FUIS2ICI/LRIE|Z (62 5/25 4g) (n=2,070) B2 RAHSIUHA (2 2
1) 5101 12 131 =0{0] Cfst 12 742 F7 S HWHATE 13 Brpirs B2EpIERR0j0|E/LEH|E &
< g0 2a|c/5/Unie 20| TYBe BerxIo} bl uoiiS T B2E7 AR E200|S/Q02e 05/ URH 2
2 2282 sl A= 2 255 U 25 o81o| A7t B2O|%Ct
E2E7leR20|0|S/R0] S2IC)s/UBEIES AISY A2 e BREPIAR0l0[S/ YRS U 5g!
S0 AT = ZEx O 22 ofSI0] Gzt 6|82 15% Y 20R YOGS (H)) A= 2 25 U2
= ofsiol ek 518 24 (22 ore) 548 A|2to &35 8t B8 a0l BLE ST
H2 OIAMAEASO] Z5E U 55 o4t (MPACT 947)”
ors

BE Y | mopiie |z

%5 | BRCPieFRo0l s S s/ | S

dote | weeEn oz Al gzt oftuie | (B | g

H_l_g (O_II- == (95% é_l)l_ o (0/0) e

51/3) (95%

Cl)
zzeplenzojols/RolZelc] | 091 : -]
E/YRHEE (n=4,145)

EZEI7IEE 20 0| E/LSHEHE 1.07 0.85 (0.80, 0.90) 15 P<0.
(n=4,133) (10, 001

20)

#OZ 2|t s/LSHEE (n=2,069) 1.21 0.75(0.70, 0.81) 25 P<O0.

(19, 001

30)
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